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Open up the GBD1

In this document, “a” and “b” represent the interval we are exploring at which the secant line is intersecting the function.  

1)  Is  the function represented by the equation, continuous and differentiable for the entire domain? Explain how you came to your conclusion.




Change the values of “a” and “b” around to answer the following questions.

2) List three intervals [a,b] in which the conditions are met for applying the MVT.

3)  For the intervals mentioned in #3, find the average rate of change using this function and the working endpoints.

4)  By adjusting the “D” value on the handheld, is there a possible tangent line with the same slope as the average rate of change you found in #3?  


5)  Using your calculator, solve for the exact “c” value(s) for each interval found in #3. Consider using the graph of the derivative and the graph of the constant function using the average rate of change as the constant



Here is a table to help you organize your information from questions 2 - 5
	List three interval [a, b] in which the conditions are met to be able to apply the MVT.
	Is there a possible tangent line with this same slope as the average rate of change?
(try different “D” values)
	Find the average rate of change using the function and these endpoints.
	Using your calculator, solve for the “c” value that is guaranteed by the MVT

	

	
	
	

	

	
	
	

	

	
	
	



	OPTIONS INSTEAD OF QUESTIONS 4 AND 5.
4) For one of the intervals listed in #3, estimate the “x” value where the distance between the secant line and the function is the greatest.

5)  Select 2nd Draw, Tangent, arrow up to select the function, then type in your estimated x value.  Compare your tangent line to the secant line.  Does the tangent line and the secant line appear tangent? Press 2nd Draw, #1 Clear Draw and repeat these steps to better estimate the “x” value for the tangent line.



6)  Can you find an interval in which the converse of the MVT is true? Is the Converse of the MVT true?
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8) Open GDB 9.  The values at x = 1 are not suppose to be connected.  The point (1, 1.5) is suppose to be open and the value at (1, -.5) is closed.  
a)  Name 3 intervals in which the MVT conditions are met.





b)  Name 3 intervals in which the MVT conditions are not met and state why the conditions are not met.
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